G0-300G | = TVAHILNI HNOLNOD
apn1buo|

(1sea soalbap)
09¢ 0€e 00¢€ 042 0) 24 0lLc 081 oSt 0cl 06 09 0¢ 0

G-o¢
G-99
G-96 DHU_.
—t
-
Q.
Tl @
¥—-9G°|

06
(yuou soaaibap)

¢/}

(ureJ) uoneudioaid



G0-300G | = TVAHILNI HNOLNOD
apn1buo|

(1sea soalbap)
09¢ 0€e 00¢€ 042 0) 24 0lLc 081 oSt 0cl 06 09 0¢ 0

G-9¢

G-99

G-96

opniiE|

v-ac'l

y—9g'|

06
(yuou soaaibap)

cl/c

(ureJ) uoneudioaid



G0-300G | = TVAHILNI HNOLNOD
apn1buo|

(1sea soalbap)
09¢ 0€e 00¢€ 042 0) 24 0lLc 081 oSt 0cl 06 09 0¢ 0

G-o¢
G-99
G-96 DHU_.
—t
-
Q.
Tl @
¥—-9G°|

06
(yuou soaaibap)

¢cl/€

(ureJ) uoneudioaid



G0-300G | = TVAHILNI HNOLNOD
apn1buo|

(1sea soalbap)
09¢ 0€e 00¢€ 042 0) 24 0lLc 081 oSt 0cl 06 09 0¢ 0

G-9¢

G—99
G-26 S ‘ =
i S 3 S < — %/: — ey i a/‘\i\\j\ N4 m_.
. = 2 / — U\\IJ.O/@,A — - ——— ] e
v—oc't u
p-9G'| ‘
06
(ypou sosviboep)

(ureJ) uoneudioaid
SHiv



G0-300G | = TVAHILNI HNOLNOD
apn1buo|

(1sea soalbap)
09¢ 0€e 00¢€ 042 0) 24 0lLc 081 oSt 0cl 06 09 0¢ 0

G-og
G-29

G-96 , ) : 2

= S L =€ ; — (”// S —mmits —

. — "14»5 b&w o

-zl ko ~—~ L/Nr\)/ ®
p-aG'|

06
(yuou soaaibap)

cl/S

(ureJ) uoneudioaid



G0—300G" I = TVAHJ3LNI HNOLNOD

apn1buol
(1sea soalbap)
09¢€ 0€e 00€ 04¢ (0144 OLc 081} 0G| 0cl 06 09 0€ 0
0 — — _ — — — — — — 06—
G—-o¢ O@I
Gg-99
0€-
G-°6 ‘ =X — m
=== N e\ Q
p-og' | / ®
, 0¢
4
y—9G'|

09

06
(yuou soaaibap)

¢l/9

(ureJ) uoneudioaid



precipitation (rain)

7/12

(degrees_north)

9e-5
6e-5
3e-5

opniiE|

60 90 120 150 180 210 240 270 300 330 360
(degrees_east)

30

longitude
CONTOUR INTERVAL = 1.500E-05



precipitation (rain)

8/12

(degrees_north)

9e-5
6e-5
3e-5

opniiE|

60 90 120 150 180 210 240 270 300 330 360
(degrees_east)

30

longitude
CONTOUR INTERVAL = 1.500E-05



G0-300G | = TVAHILNI HNOLNOD
apn1buo|

(1sea soalbap)
09¢ 0€e 00¢€ 042 0) 24 0lLc 081 oSt 0cl 06 09 0¢ 0

G-o¢
G-99
G-96 DHU_.
—t
-
Q.
Tl @
¥—-9G°|

06
(yuou soaaibap)

¢l/6

(ureJ) uoneudioaid



G0-300G | = TVAHILNI HNOLNOD
apn1buo|

(1sea soalbap)
09¢ 0€e 00¢€ 042 0) 24 0lLc 081 oSt 0cl 06 09 0¢ 0

G-9¢

G-99

G-96

opniiE|

v-ac'l

y—9g'|

06
(yuou soaaibap)

¢l/O1

(ureJ) uoneudioaid



precipitation (rain)

11/12

(degrees_north)

1.5e-4
1.2e-4

9e-5

6e-5

y
4
Wi} )

S\/\/

opniiE|

60 90 120 150 180 210 240 270 300 330 360
(degrees_east)

30

longitude
CONTOUR INTERVAL = 1.500E-05



precipitation (rain)

12/12

(degrees_north)

1.5e-4

1.2e-4
9e-5
6e-5
3e-5

opniiE|

60 90 120 150 180 210 240 270 300 330 360
(degrees_east)

30

longitude
CONTOUR INTERVAL = 1.500E-05



